
Lit. No. 94844
March 1, 2003

Under Tailgate Spreader Mounting Kit Parts List

- over -

1

5

4

9

14

17

16

7

15

15

2

18 18

3

13

10
8

1

11

12

9

14

6

19

This parts list is for UTS 696 Under Tailgate Spreaders with serial numbers 0216 and higher.



March 1, 2003 Lit. No. 948442

Copyright © 2003 Douglas Dynamics, L.L.C. All rights reserved. This material may not be reproduced or copied, in whole or in part, in any
printed, mechanical, electronic, film or other distribution and storage media, without the written consent of the company. Authorization to
photocopy items for internal or personal use by the company’s outlets or spreader owner is granted.

The company reserves the right under its product improvement policy to change construction or design details and furnish equipment when so
altered without reference to illustrations or specifications used.

Printed in USA

Under Tailgate Spreader Mounting Kit Parts List

Abbreviations
G Grade
HT Heat Treated
ns not shown
STS stainless
ZP Zinc Plated
ZYC Zinc Yellow Chromate

94757, 94758, 95385, & 95386 – Under Tailgate Spreader Mounting Kit Parts List 
Item Part Qty Description Item Part  Qty Description 

1 94795 4 Mount  6 94741 2 Parallel Bar 
1 95302 4 Mount - STS 7 94742 1 Parallel Bracket 
2 94830 1 Side Shield, Driver Side 19 94730 1 5/16 – 18 T Bolt 
3 94832 1 Side Shield, Passenger Side ns 94798 1 Parts Bag 
4 94740 2 Spinner Pin ns 95309 1 Parts Bag - STS 
5 95203 2 Bar, Support     

94798 and 95309 – Parts Bag 
8 63354 2 3/4 x 6.00 Clevis Pin HT ZYC 13 90375 2 3/8 - 16 x 1 Carriage Bolt 
8 95305 2 Mount Pin STS 14 91351 6 3/8 - 16 Hex Locknut 
9 68649 6 .20 x 3-3/4 Hairpin Cotter ZYC 15 91901  2 1/8 x 3/4 Cotter Pin ZP 

10 94988 8 1/2 - 13 x 1-3/4 Carriage Bolt 16 66438 4 3/8 - 16 x 1-1/2 Hex Cap Screw 
11 68109 8 1/2 Flat Washer 17 91123 6 3/8 Flat Washer 
12 91335 8 1/2 - 13 Hex Locknut GB 18 93148 8 1/4 x 3/4 Tapping Screw 

   


